vout
2 ca c5 c7 c9 c10 c11 Cc13 a5 a8
——c= -

T C={CPL*1e-12} T C={CPL*1e-12} T C={CPL*1e-12}

{CPL*1e-12} —— C={CPL*1e-12} T C={CPL*1e-12} Z— C={CPL*1e-12} T C={CPL*1e-12} — C={CPL*1e-12} ~— C={CPL*1e-12}
L9 L8 L7 L6 L1 L2 L3 L4 L5
T V1 L={L1*1e-9} L={L1*1e-9} L={L1*1e-9} L={L1*1e-9} L={L1*1e-9} L={L1*1e-9} L={L1*1e-9} L={L1*1e-9} L={L1*1e-9}
u1=ov R1 R2 R3 R4 R9 R10 RS R6 R7 R8
—u2=2v R={R1} R={R2} R={R3} R={R4} R={R5} R={R5} R={R4} R={R3} R={R2} R={R1} P2
Tr={trin =;
{trin} E Num=2
2l Z=50 Ohm
P1
Num=1 c1 ca4 c6 c8 c19 c20 c12 c14 C16 c17
Z Z=50 Ohm = C={(C1+CPO)*1e-12} I C={(C2+CPO)*1e-12} T — C={(C3+CPO)*1e-12} T — C={(C4+CPC)*1e-12} = C={(C5+CPO)*1e-12} I C={(C5+CPC)*1e-12} T C={(C4+CPC)*1e-12} I C={(C3+CPO)*1e-12} ~ —— C={(C2+CPC)*1e-12} == C={(C1+CPC)*1e-12}

N utmeg Scr'l pt | : C{I).IStOm‘I time ::s:ommtran,m

_PARAM m .PARAM

SpicePar1 SpicePar2 SpicePar3 SpicePar4 CQSTOM1
CPL=1 N=9 11=90.33 L1=100 SpiceCode= 1+ L
cPC=1 tr=10e-9 C1=18.07 C1=3.433807E+01 tran 1e-9 50e-9
trin=100p BW=0.35/tr €2=36.13 (€2=2.598532E+01 meas TRAN range PP tran.v(vout) -
W0=2*3.141592%BW €3=36.13 (C3=4.131560E+01 let ten=0.1*range 3
2x=50 C4=36.13 C4=4.284842E+01 let ninety=0.9*range 2057
CX=1/WOFZX*sqrt2*N/In(2)-5/8)*1e12 C5-36.13 (5=3.658031E+01 meas TRAN rise_time TRIG tran.v(vout) VAL=ten RISE=1 TARG tran.v(vout) VAL=ninety RISE=1 <
" " . N ©
Lx=ZxA2*Cx*1e-12%1e9 R1=50 R1=5.124539E+01 let tri=rise_time*1e9 ]
L1=2%Lx R2=25 R2=2.432580E+01 o
C1=Cx R3=25 | ; ; ;
C2=2*Cx R4=25 0 10n 20n 30n 40n 50n
€3=2%Cx R5=25 R5=1.722261E+01 custom.time
C4=2%Cx Nutmeg script
€5=2*Cx
R1=Zx 0
R2=Zx/2 CUSTOM2
Spi - 410
R3=7Zx/2 piceCode:;
RA=ZX/2 SP DEC 67 1MEG 800MEG 8T 507
R5=7x/2 let dB_S21 = dB(v(s_2_1)) 5 n %
let dB_S11 = dB(v(s_1_1)) £33 34
let dB_S22 = dB(v(s_2_2)) S8 &
-40 1
-50 | |
™ 10M 100M 1G

custom2.frequency
custom2.frequency
custom2.frequency



